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Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

oo s ot e fa

fa) In a capitalist economy, the level of
employment depends on

9= “ffeai weifes feae TR g frée e
(i) level of aggregate demand

FHfES MR TR e/ Fo

(ii) level of aggregate supply
AHIET @S TG 89S
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(b)

()

22A/40

TN

(2)

(iii) level of effective demand

Ay TR I eors

(tv) None of the above
SORY OIS Ry

( Choose the correct option )

(wﬁasazhmf%%%w)

Aggregate demand can be expressed as

FHEE bR et T~

i) D=D, +D,

(@ D; >D,

(iii) D, <D,

(iv) D=D, -D,
where (3) D = Demand (oif2wr)

Dy =Consumer demand (cerem1f3w1) and
(81%) D, =Investment demand

(R o)
( Choose the correct option )

( o= Reschn AR ey )

When money wage rate is unchanged,
the slope of aggregate supply function ig

G @1 TR 2 Ry, cofor fa
QI Fefoq I 377
(i) linear
ks
( Continued )

(@)

22A/40

(3)

(i) non-linear
I-CIRF
(i) curved
I
{iv) Any shape
( Choose the correct option )

(o= Remco! f2 Sferear )

According to Phillips, the relationship
between unemployment and the rate of
change of wage rate is

Wﬂ‘“‘mfﬁ

(i) inverse

fReRe
(i) linear
R
(iii) non-linear
-t
(iv) both inverse and non-linear
ReAre e w-0aR< bR
( Choose the correct option )
(om Raeo! Al Sfee )
( Turn Over )




(4)

(e) Phillips curve determines

(g)

(h)

(i

1}

22A/40

e @i iy v

ﬁ'ﬁﬂ‘iﬁ ]

(1) unemployment rate
e =

(@) inflation rate
Trdfes 75

(iv) All of the above

ST Al
©
( Choose the correct option )

(o fzrschr <1fs, ofraar )

ifi a1
RS Ry C::T %h:“lps curve?

Slgjnm
to Munde]jp ent problem according

TS T Wyt
What g 3 WW%?

D()mb
11 3
sch’s overshooting

( Continued )

—

(&)

2. Answer the following : 2x5=10
oo fraiae] Ted

(a) Differentiate between spot and forward
exchange rate.
=ofp T TG RER 2 @ N Fefy
911

(b) Write two constituents of international
financial market.

wrsifes REm IwR 1 SATER T {1

(¢ What are the I-S components of
Mundell-Fleming model?
e -GriR SIS ST RETIeI ST &
&2

(d) Give two merits of Phillips curve as a
tool of economic theory.
HflAfod OEd IRP fBpres e @@ 1131 9
o741 |

(e) Define impossible trinity of Mundell-
Fleming model.

er- GrfiR SR SPTEd 9 RS f

3. Answer any four of the following : 5x4=20
werd Rz vifE T ford :

(a) What are the factors which cause shifts
in the short-run Phillips curve?

cF FEe e TREN R @3N
of3gSd TR @ W ?
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(b)

(c)

(d)

(e)

(6)

Explain the concepts of rational
expectation in theory and practice.

ofie wF el chqe Afed A9
IO 00T 47 |

What is adaptive expectation? Mention
three  limitations of adaptive
expectation.

sfecifis dopn o 2w fofin SwRES
TEd 40 |

How is the exchange rate determined in
a free market? Explain briefly.

Te TS Rfwe 21 R fidfy 71 =, 709
000 < |

What are the relative irnpo!‘tﬁlf-lce of

aggregate demand eoate
supply? and aggreg

TR SRE W e
@R T
TR g 5 9

(7)

4. Answer any four of the following : 10x4=40
e RN Bif¥or Ted fiedl :

(a) Explain the purchasing power parity
theory. Discuss its limitations.

Z% FYed el ogel I ¥« WK
SEePER S 4|

(b) Explain Mundell-Fleming model in
terms of monetary fiscal mix policies
under fixed and flexible exchange rate
with perfect capital mobility.

sopel BeA JAdd T &R W ARSI
R T9e [eF-ERE @ e qoR-
wfee e THSCe w40 |

(c) How does the Phillips curve explain the
trade off between unemployment and
inflation? Discuss its policy implication.

Rfr @R @@ AR SE R
WF%WW?W%%WW
Sicizikll

(d) What do you mean by effective demand?
What are its determinants? Explain

H .
b:“(;ecén the aggregate supply function briefly.
Wmed? st vifw e R @7 W SAmerEE
@Tmm@iﬂﬁﬂﬁiﬁﬁ‘iw.’-@? %?WWWl
e L a ( Turn Over )
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(8)

{e) Discuss how underemployment
equilibrium is determined with the help
of aggregate demand and aggregate
supply.

AT ORE W RS @R S
ST ST (PTed iR < =, qefey
4l |

(/) Explain the Dornbusch’s overshooting
theory.

TIPS T SIRZR SGC! J7I< 79 |

(g) Write a note on monetary approach to
balance of payments (BOP).

T el (BOP)T J@iofs 72 eoiqw
@B (BT 1 |

(h) Explain the asset market approach to
determine exchange rate.

fafre 2 fidied sfeta som v v

RIRIISEIN
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